
C C

P P P P

D

A A

B B

C C

P P P P

D

A A

B B

75  NOVEMBER 2012   familyhandyman.com

        Materials List
ITEM	 QTY.

4’ x 8’ x 3/4” BC plywood	 2
4’ x 8’ x 1/4” BC plywood	 1	
2x4 x 8’ studs	 5
1x6 x 8’ No. 2 pine 	 4
1/4” x 3/4” x 8’ pine screen mold	 2
3-1/2” door hinges	 3
3” self-drilling exterior grade wood screws	 1 lb.
1-5/8” self-drilling exterior grade wood screws	 1 lb.
1-1/4” trim screws	 1 lb.
3/8” x 4-1/2” lag screws	 2
3/8” fender washers	 4
1/2” hitch pins	 2
Drawer pulls	 4
Bottle of wood glue	 1
Primer	 1 qt.
Enamel paint	 1 qt.
Polyurethane	 1 qt.

KEY	 QTY.	 SIZE & DESCRIPTION

	 A	 2	 60” x 15-3/4” bench tops
	 B	 2	 34” x 15-3/4” sides
	 C	 1	 55-1/2” x 15-3/4” bottom and shelf 
	 D	 1	 13-1/4” x 15-3/4” drawer divider
	 E	 1	 57” x 32-7/8” x 1/4” back 
	 F	 4	 55-1/2” x 1-1/2” x 3-1/2” front/back of frames
	 G	 4	 12-3/4” x 1-1/2” x 3-1/2” frame sides
	 H	 2	 30-1/2” x 1-1/2” x 3-1/2” support arms
	 J	  1	 55-1/4” x 1-1/2” x 3-1/2” benchtop brace
	 K	 8	 15” x 3/4”x 7/8” drawer guides
	 L	 4	 15” x 27-1/4” x 1/4” drawer bottoms
	 M	 16	 27-1/4” x 3/4” x 5-1/2” drawer front/back
	 N	 16	 13-1/2” x 3/4” x 5-1/2” drawer sides
	 P	 4	 27-1/4” x 6-1/2” plywood drawer fronts
	 Q		  Screen mold/plywood edging cut to fit

Cutting List



75  NOVEMBER 2012   familyhandyman.com

KEY	 QTY.	 SIZE & DESCRIPTION

	 A	 2	 60” x 15-3/4” bench tops
	 B	 2	 34” x 15-3/4” sides
	 C	 2	 55-1/2” x 15-3/4” bottom and shelf 
	 D	 1	 13-1/4” x 15-3/4” drawer divider
	 E	 1	 57” x 32-7/8” x 1/4” back 
	 F	 4	 55-1/2” x 1-1/2” x 3-1/2” front/back of frames
	 G	 4	 12-3/4” x 1-1/2” x 3-1/2” frame sides
	 H	 2	 30-1/2” x 1-1/2” x 3-1/2” support arms
	 J	  1	 55-1/4” x 1-1/2” x 3-1/2” benchtop brace
	 K	 8	 15” x 3/4”x 7/8” drawer guides
	 L	 4	 15” x 27-1/4” x 1/4” drawer bottoms
	 M	 8	 27-1/4” x 3/4” x 5-1/2” drawer front/back
	 N	 8	 13-1/2” x 3/4” x 5-1/2” drawer sides
	 P	 4	 27-1/4” x 6-1/2” plywood drawer fronts
	 Q		  Screen mold/plywood edging cut to fit

Cutting List



K

F

F

F

F

H

C

C

E

D

A

A

G

G

B

Q
J

M

M

N

N

P L

familyhandyman.com     NOVEMBER 2012   73



K

F

F

F

F

H

C

C

E

D

A

A

G

G

B

Q
J

M

M

N

N

P L

familyhandyman.com     NOVEMBER 2012   73



C C

P P P P

D

A A

B B

C C

P P P P

D

A A

B B

75  NOVEMBER 2012   familyhandyman.com

        Materials List
ITEM	 QTY.

4’ x 8’ x 3/4” BC plywood	 2
4’ x 8’ x 1/4” BC plywood	 1	
2x4 x 8’ studs	 5
1x6 x 8’ No. 2 pine 	 4
1/4” x 3/4” x 8’ pine screen mold	 2
3-1/2” door hinges	 3
3” self-drilling exterior grade wood screws	 1 lb.
1-5/8” self-drilling exterior grade wood screws	 1 lb.
1-1/4” trim screws	 1 lb.
3/8” x 4-1/2” lag screws	 2
3/8” fender washers	 4
1/2” hitch pins	 2
Drawer pulls	 4
Bottle of wood glue	 1
Primer	 1 qt.
Enamel paint	 1 qt.
Polyurethane	 1 qt.

KEY	 QTY.	 SIZE & DESCRIPTION

	 A	 2	 60” x 15-3/4” bench tops
	 B	 2	 34” x 15-3/4” sides
	 C	 1	 55-1/2” x 15-3/4” bottom and shelf 
	 D	 1	 13-1/4” x 15-3/4” drawer divider
	 E	 1	 57” x 32-7/8” x 1/4” back 
	 F	 4	 55-1/2” x 1-1/2” x 3-1/2” front/back of frames
	 G	 4	 12-3/4” x 1-1/2” x 3-1/2” frame sides
	 H	 2	 30-1/2” x 1-1/2” x 3-1/2” support arms
	 J	  1	 55-1/4” x 1-1/2” x 3-1/2” benchtop brace
	 K	 8	 15” x 3/4”x 7/8” drawer guides
	 L	 4	 15” x 27-1/4” x 1/4” drawer bottoms
	 M	 16	 27-1/4” x 3/4” x 5-1/2” drawer front/back
	 N	 16	 13-1/2” x 3/4” x 5-1/2” drawer sides
	 P	 4	 27-1/4” x 6-1/2” plywood drawer fronts
	 Q		  Screen mold/plywood edging cut to fit

Cutting List



C C

P P P P

D

A A

B B

C C

P P P P

D

A A

B B

75  NOVEMBER 2012   familyhandyman.com

        Materials List
ITEM	 QTY.

4’ x 8’ x 3/4” BC plywood	 2
4’ x 8’ x 1/4” BC plywood	 1	
2x4 x 8’ studs	 5
1x6 x 8’ No. 2 pine 	 4
1/4” x 3/4” x 8’ pine screen mold	 2
3-1/2” door hinges	 3
3” self-drilling exterior grade wood screws	 1 lb.
1-5/8” self-drilling exterior grade wood screws	 1 lb.
1-1/4” trim screws	 1 lb.
3/8” x 4-1/2” lag screws	 2
3/8” fender washers	 4
1/2” hitch pins	 2
Drawer pulls	 4
Bottle of wood glue	 1
Primer	 1 qt.
Enamel paint	 1 qt.
Polyurethane	 1 qt.

KEY	 QTY.	 SIZE & DESCRIPTION

	 A	 2	 60” x 15-3/4” bench tops
	 B	 2	 34” x 15-3/4” sides
	 C	 1	 55-1/2” x 15-3/4” bottom and shelf 
	 D	 1	 13-1/4” x 15-3/4” drawer divider
	 E	 1	 57” x 32-7/8” x 1/4” back 
	 F	 4	 55-1/2” x 1-1/2” x 3-1/2” front/back of frames
	 G	 4	 12-3/4” x 1-1/2” x 3-1/2” frame sides
	 H	 2	 30-1/2” x 1-1/2” x 3-1/2” support arms
	 J	  1	 55-1/4” x 1-1/2” x 3-1/2” benchtop brace
	 K	 8	 15” x 3/4”x 7/8” drawer guides
	 L	 4	 15” x 27-1/4” x 1/4” drawer bottoms
	 M	 16	 27-1/4” x 3/4” x 5-1/2” drawer front/back
	 N	 16	 13-1/2” x 3/4” x 5-1/2” drawer sides
	 P	 4	 27-1/4” x 6-1/2” plywood drawer fronts
	 Q		  Screen mold/plywood edging cut to fit

Cutting List


	FH12NOV_FOLDUP_ML
	FH12NOV_FOLDUP_CL
	FH12NOV_FOLDUP_09
	FH12NOV_FOLDUP_10
	FH12NOV_FOLDUP_11
	FH12NOV_FOLDUP_12



